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The Game of Pig

Classwork

every other point.

e © o ©®® 550000 ®006099%ssc0000S0SSSSeN

N

e oo eescoeeeoscooessees

e —

Kug Games

[magine that each diagram in this activity represents a rug. A trap door opens directly
over the rug and a dart falls down, landing at random somewhere on the rug.

-At random” means that every point on the rug has as good a chance of getting hit as

1. If you were trying to predict which part of this rug will get hit, which color

would you choose, gray or white? What is the probability of being hit for each
color?

Continued on next page

“*#7cUve Mathematjcs Program

5




[ 4
Classwork The Game of by The (
) : . L
[ ] .
. . For each of the rugs below, decide which color vou would predict as most
b hl\el} to be hit. For each color. find the probability of being hit; . .
° Q =
Q (TR |
[ ]
[ ]
[ ]
[ ]
[ ]
S 1
e
[ ]
[ ]
[ ]
. L
9
[ ]
. »
o LI |
b
[ ]
L
® [
[ ]
[ ]
[ ]
[ ]
[ ]
L ]
[ ]
L ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
[ ]
i 0
i °
[ ]
®
[ ]
[ ]
[ ]
[ ]
[ ]
L ]
[ ]
[ ]
[ ]
/
1)/ )‘I’ J {ﬁ/ n
¢ |
| = (] I )
~ / B
leé Interactive Mathematics Program i

AR



T a8 | Fit 1ol T byl T T ol ey v J‘J:J‘f, ,L
. — — At b e | R G5 <1 4
o e e & SR P o P |||J|x__ —ty _ Y| B i S B el e —t
.;.ﬂ =™ F= e £F 3% =1
3 e | i
s T . i W 1
v AN TS 5 R T L e - —
NEE ST NERA RN - L
ey f ,.f;.u,_ 1 LN - i W bt B o m
M ?p%,w,w .,Wmf i~ I {IM B I N A ...u.J...y mﬁu
T S RSN R ST T 7 = Vi T < [ B P M
i AR / Y ..“.....u L~
N /W, WS B o - . 9 MW 51 i A G
.,..J. .a;' LY L | - i | IIMII| .
E 3 |

.
=

=

lagme e

ichas




|

¥
¢

R
4/

ee] 67495 IOl

1
44! ¢
|
/
|
|

D h Al

........

1
|
|

|
\
\
\ i‘
\

1

Wigs
un W
A

|
1

‘ & ;‘

v

\
|
| 1y | | |
Lace e S| aee {
!/

|
l
|
7 5 .l‘ _Ji'
|

)4
'

—
i |
| | ; |
il

\>
A

Zlo ¢
A
7 + t
- bl X | fm ‘
1
| [

RV

fF(/"l T 1

|
|
.I_ =t Sameil -~ ‘i_ _5_ =2 I
| | A |

==

- Puster s

_— ——— — — — +

|
f
?(_J

|
e

3l

AAN

!o
L 2O

T(f"s:}ﬁ’
| ]
Al o

—

o

Uil 71 ) ! :
“hey a0 v 029,

| |
YO 5

.
\
|
e

|
\
|
|
|
|
|

INREEEN RN
. : ! | i m ‘
|

Llfi




i o wee S T
_ |
R L3 LISLIL /S I
N G | : __{ 4 == - S |1
| | | | |
— | I Lo
ol | _ R
3 rll_ i e b )
ST VP s T o e b 5
7 7l 7 C T .\ i} i .: _.\_ ...-_ - N
,,Q. B 2 T S PO N N V) e~ YN S | R Y IRE z
. el S
T 1 | = _ B | | | ™ _@ TN
| | | —_—
. - I R
W _ ﬂl) | /fv ,
| i
| __ 2 s \1
LI A {2 y I \ =
| V * et EVY o |l N MKJ | hrD
1 I { : 8 B =~ i, 1
| | ) “ 4} Y 3 J | J L f Bl L /]
e B = _ R s = I YR A
~ TRy P oy N[O o N A
e = e R s e L B, S L|f._Lu.1||.f|lT
_ m.;..i o [V (N OD T ON S 3
1 .?,_‘”riLx i et RE (R oo I =l r— = e
#... | B ™ | | ” 4 ,ﬁ 7 el B
- - A | A (R [ [ | T 4, N |
o | | | 7 ” ’
St IR T " — — f =t | S S
- | | .
= T = NI SN I -3 1 T T |

3
gfy | Nf 6 F ;|

e
[ Yl

& b o
b

|

Clor

04| |
supl | | |

05|11k
2
434
£

2SI

s 2 ,
B e ey
T .Ml&\/ nh(Jv?l.Uj\_l\J m-..l [
+ s - AT F1..):. u...r Sk s ;_r
_ & 159 #i e o s
o _ 9 2 < L P
- i = —_ e el e | — | —
mﬁMT, ks io.,.!?/urbhu.qT? il (548 L M =Dl
| | - ol B e B 0 R
pf—t ' — __ RN L | " Y 1u@ 9 nU B ._..EM G - -
Tl e RSt ST | | o M B - _S S




—— B B _ T E ol Y i R ll:li|4|d
A ol L Rk 1§ - | i T
0 .. S S . 1 o
= el i S
- | 7
A i
EEEE R b PRI X6 N A L
T L M TUOS 1
R AN LY ¢ nﬂ.l.m M e 2101«
B EREEE \ ) .
,4,/ _ .
Jiq - b | |
| >\ ] ™ !
O h IrD e B rl.WF_ ﬁ..\ | IS (T
50 e Upl ™F M |
: iﬂ Mm . m U u{\:, | A
| i &
e ﬁi &.I ; fL o 1 !
é s B Ak o7 O e
N | 4 D | Py A bl
N Y d \C NS (Y -
/ /
m o\t VA
~ NJ o) M.{ M~ | ¢ A @Ru
A A ] /
\.x \\ ﬂ\\\ \\ ; b . M.m/m
x\ d \\.\,W\. Ll i) i w (= ) w
. w% . el §9 B\ | i o M
4102 e o oA o (o« =
1In. ) 2?.?5 =0 f
S I T




J j((o Jg‘%:} : /&chj

[Micdd Aot &1 f2

2: 4+ a7 > 1% Jidd

L3 ¢+ S F ?H:‘;S’z—Lﬁ.

el s Tl pobll, o each 4,

fﬂ'jf%ﬁé"ﬂ = : : ,
8131 Ur 6121 fodh rom //\A/J\E'r »/A/-?/M:‘#
2001905 [19]  n mupadtemg  fiich
g1 0f0]slel ]

AR TNIIAER

181”7 holv izl

[T T oppeel_of Tl sm e Z000°TG

3+ = 1Y
2\ 4le 0417 8 |
21y /S 4 /¢, JalEs & SN
3y [S (817 [ MEPRENIT A
3 ol ¢ 2]7 / 2121916 | & s [(Z
Il {lo] Y ]¢ 817 } 712 16 19\ Ji5] 18
Lo\ ) e 2100 / S (4 1210 b %] 24
/ s 15 [o[15 [ 3%
(- 6 ¢ lel13 2413 36
1 el A . B M) ! S REREES et v il
bt 4 822 nt . [3d 3057 |G D
e 0 - [ e Dgalagte L yen
G e T S A TR P




-~

Dezw o (o Gl Pl ﬂ’@(ﬂ(ﬁ"

[T g lg LF_YZF

12 ly 16

c |

12V E. 84
s DI [&

2 e

In |3 %

3. 16

7 | 26

AT

Llg 128 26)

3D.

O(\’ v }E‘J(}/ﬁ

JTTES £










Lo T
Mechadl P{aw@r p[} ADT AT V/]ﬁ

Gml, 3/ 5 g"’é i d pf; ;j ’%*‘T"”’fd

S ﬁﬁ:r

m 7[/115 7)/‘33 fé [D}\S —éxx},ﬁ ‘\_,

\J

Whde 4 rarll M Mg ,é’mw <L

'W-a‘u@aQ ez 7 ?‘rmé‘f lm;ue e £ GeE

WQW’IQ(? Pd‘

B facly 7!70 )6 =gy P/}Jfb x Pts X T onds

T_/pd/_ // %

W R

TN I T T S B
’a 9”-)?’( 2 :

Cmy 7]26 K els = 7 e

3 {whife g!/,g G x5 30
beay 6-! 2. 6«€ =3¢
S g3 "o
“@M: vmw o Lt cot Ml tontey
TR ) | (TR AV W)

ST T
SERE e {

by vy a0 ol Gay Lol of paibilies




Mea s (oed ‘;607

echgel Plsmeowr 12/!
Ig -~ 2 ol Y ﬁodzs
. !74’()4@/260
\ (‘; e -31—1
7
ey
‘ L ) gf’f'pwzé pre 7 p}cb%
M | 750 por- 20(
FEE
(B
))- ‘@LP QO{F ,g@“‘k “FW ReJ Ca1ds O«nd 9 EOf ﬁéy{
‘ 7 2

26 e L/

[506 o200

e >
—)Qﬁl\ 6-97& 3 (PLQ l/\ 4‘J "L@r # CON’C}S / {or 7@1‘/0 C?:WQ(}'
13
2l pte goc D picks |
73\ @GP 2dp VS J&




Pt M@ -

Wilay! ‘P[ame - 2 /2
18k 9/M Txx ﬁz>/ ST f/lﬁp@r%
, G
4/#9 (a /[uf R’r / jg\“’ o ﬁjf R 5/ 12 DM?L/M
o ——— ,

Ve Kooy L8, (el |

Feto 304 on 1S” 4 i

e el L ]
df;rg [ges: /, /;3"27] )

/

/
Mﬂw /C/&/x/bdﬂ B‘KA/»/((A /

//d,/fm'/j 3.8 and JZJ'CWM
j) Weed (/idmﬁ/& hof ¢, /\K

04 £g o |

8 o AT NN

P LAE i / {*, \

Sl RS R Ty Lol “/?f/ \

TSN (Y —5e—-
\ ~77 .
e /

m————ep—




Worksheet ) Name / (clhgpl (acme

'é
/]
if you have a drawer of socks, with 3 white socks, 2_black socks and 1 green sock, and you

pick out 2 socks, one at a time, what is the P(2 white socks) ? Use an area modei or

il k.
probability tree to show your wor / \
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Name _ o
PROBABILITY WORKSHEET
Find the probability of each event.
1. ' Rolling a die and getting a 7. N R O
2. Rolling a die and getting a 5 or a 6. 2. '7
A e N 7
ol Picking a spade from a standard deck of cards. - \_/ 3. A
4. Picking a pic‘lt'u'ré card (jack, queen, king) from a i
standard deck of cards. , 4, __ 15
5. Getting higher than 4@ (Assume that all /
a 4 on the spinner q divisions of the o Jr
shown at the right. % spinner are equal) 5 _J/V
6. Getting an even @ (Assume that all -
number on the spinner divisions of the —
shown at the right. “ - spinner are equal) 6. :
) ! 1_){’ ’./-‘\ “/ ) ’, '7‘4." ) —2 _g ..-' {_
7 Picking a 4 or a heart from a deck of cards. .~ . 17 7.2 |5
Ly | ,‘ Vs £ i} '
8. Flipping a coin twice ang getting tails twice. Y /8. _<
9. if you flip a coin three times, you can get any of the following
results: HHM; HHT, HTH, HTT, THH, THT, (TTH,|TTT.
p———— p—— \ ) P
d —
a.  Getting exactly two heads. 9a. g
o g |
b.  Getting at least two heads - 9. _© ~Z
(é; Get‘king at most two heads . ; Sc. 1
d. Not getting two heads | DIyl =] By od. 7

l.‘ - [
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